
 Ján GOLHA + Ivan SKOBA 
 “Easter egg” 

ser-h#100 (2 + 13) 

Hole a1 a2 a3 a4 a5 a6 a7 a8 b1 
b2 b3 b4 b5 b6 b7 b8 c1 c2 
c3 c4 c5 c6 c7 c8 d1 d2 d3 
d5 d6 d7 e1 e2 e3 e4 e5 e6 
e8 f8 g2 g3 g4 g6 g7 g8 h6 
h7 h8 

BeginProblem 
Author Ján Golha + Ivan Skoba 
Origin “Easter egg” 
Remark TT2: 2/100/15 
Protocol py.txt 
Pieces 
White Bd8 Kd4 
Black Kf7 Pf6 Rf5 Ph5 Rf4 Rh4 Rf3 Rh3 Rf2 Rh2 Sf1 Bg1 Rh1 
Stipulation ser-h#101 
Condition 
Hole a1a2a3a4a5a6a7a8b1b2b3b4b5b6b7b8c1c2c3c4c5c6c7c8d1d2d3d5d6d7e1e2e3e4e5e6e8f8g2g3g4g6g7g8h6h7h8 
EndProblem 

Solution: 

1.Rf5-g5 2.Rf4-f5 3.Rf3-f4 4.Rf2-f3 5.Bg1-f2 6.Rh1-g1 7.Rh2-h1 8.Sf1-h2 9.Rg1-f1 10.Bf2-g1 11.Rf1-f2 
12.Sh2-f1 13.Rh3-h2 14.Rh4-h3 15.h5-h4 16.Rg5-h5 17.Rf5-g5 18.Rf4-f5 19.Rf3-f4 20.Rf2-f3 21.Bg1-f2 
22.Rh1-g1 23.Rh2-h1 24.Sf1-h2 25.Rg1-f1 26.Bf2-g1 27.Rf1-f2 28.Sh2-f1 29.Rh3-h2 30.h4-h3 31.Rh5-h4 
32.Rg5-h5 33.Rf5-g5 34.Rf4-f5 35.Rf3-f4 36.Rf2-f3 37.Bg1-f2 38.Rh1-g1 39.Rh2-h1 40.Sf1-h2 41.Rg1-f1 
42.Bf2-g1 43.Rf1-f2 44.Sh2-f1 45.h3-h2 46.Rh4-h3 47.Rh5-h4 48.Rg5-h5 49.Rf5-g5 50.Rf4-f5 51.Rf3-f4 
52.Rf2-f3 53.Bg1-f2 54.Rh1-g1 55.h2-h1=Q 56.Qh1-h2 57.Rg1-h1 58.Qh2-g1 59.Sf1-h2 60.Qg1-f1 61.Bf2-g1 
62.Qf1-f2 63.Sh2-f1 64.Rh3-h2 65.Rh4-h3 66.Rh5-h4 67.Rg5-h5 68.Rf5-g5 69.Rf4-f5 70.Rf3-f4 71.Qf2-f3 
72.Bg1-f2 73.Rh1-g1 74.Rh2-h1 75.Sf1-h2 76.Rg1-f1 77.Bf2-g1 78.Rf1-f2 79.Sh2-f1 80.Rh3-h2 81.Rh4-h3 
82.Rh5-h4 83.Rg5-h5 84.Rf5-g5 85.Rf4-f5 86.Qf3-f4 87.Rf2-f3 88.Bg1-f2 89.Rh1-g1 90.Rh2-h1 91.Rh3-h2 
92.Rh4-h3 93.Rh5-h4 94.Rg5-h5 95.Qf4-g5 96.Rf5-f4 97.f6-f5 98.Qg5-e7 99.Kf7-f6 100.Kf6-g5 Bd8*e7 # 

(TT2: 2/100/15 - According to tournament rules the stipulation is: ser-h#101) 

 
This entry was originally meant to be sent for tournament as ser-h=>101 (TT2: 2/100/15). But we noticed that Popeye 
didn’t find solution in 101 moves (98.Qg5-f6 99.Qf6-e7 100.Kf7-f6 101.Kf6-g5 Bd8*e7 #). Why not? It’s a bug? 


